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DEPARTMENT OF JYOTIRVIGYAN EVAM VEDIK KARMAKANDA
Gurukula Kangri Vishwavidyalaya, Haridwar
MA (JYOTIRVIGYAN EVAM VEDIK KARMAKANDA)

CBCS Pattern
S, Subject Subject Title Periods Evaluation Scheme Subje
N. Code per Tternal ESE ct
week Assessment Total
L T | P | Credi | CT | TA
t
M.A.1 Year
Semester — 1
1 | MJY-C101 | Jyotisha Shastra ka Itihash 5 0 | - 6] 20 | 10 70 100
2 | MJY-C102 | Ganita Jyotisha 5 0| - 5 20 | 10 70 100
3 | MJY-C103 | Veda evam Brahmana 5 0 - ] 20 | 10 70 100
4 | MJY-C104 | Yagya Vidhana 5 0 | - 5 20 | 10 70 100
5 | MJY-C151 | Practical (Oral) - 8 4 15 | 15 70 100
24 TOTAL 500
Semester — 11
1 | MJY-C201 | Hora Vidhana =] 0 - 5 20 10 70 100
2 | MJY-C202 | Jamini Sutra evam Varsh Phala Vidhana 5 0 - 5 20 | 10 70 100
3 | MJY-C203 | Vediak Yagya Vigyana 5 0 - 5 20 | 10 70 100
4 | MJY-C204 | Sanskaara Viviechena-1 8 0 - 5 20 10 70 100
5 | MJY-C251 | Practical (Oral) - 8 4 15 | 15 70 100
20 TOTAL | 500
M.A. 11 Year
Semester — I11
1 | MJY-C301 | Surya Siddhant [0 - 5 20 | 10 70 100
2 | MJY-C302 | Sanskaara Viviechena-2 0 - 20 | 10 70 | 100
3 | MJY-E301 | Siddhant Jyotish 0 - 20 | 10 70 | 100
MIJY-E302 | Muhurat Vigyana ;
MIJY-E303 | Ayush evam Jotirvigyana %
4 | MJIY-E304 | Shrautayaga-1 5 0 - 5 20 | 10 70 100
MIJY-E305 | Shrautayaga-2
MIJY-E306 | Tulnakmaka Karmakanda
5 | MJY-C351 | Proyogatmak - 8 4 15 115 70 | 100
24 TOTAL @ 3500
Semester — IV
1 | MJY-C401 | Vedangajyotisha evam Bhubankosha 5 0 - 5 20 | 10 70 100
2 | MJY-C402 | Shrautayaga-3 5 0 - 20 | 10 70 100
3 | MIY-E401 | Arya Bhattiya 5 0 - 20" 510 70 100
MIJY-E402 | Brihatsanhita
MIJY-E403 | Shrautasutra evam Shulvasutra 5 0 - 5 20 | 10 70 100
MIJY-E404 | Shrautayaga-4 |
MIJY-E461 | Laghushodha Pravandha %
MIJY-C451 | Proyogatmak - 8 4 15 |15 70 100
24 TOTAL 300
TOTAL CREDITS 92 G. TOTAL 2000
L = Lecture P =Practical CT =Cumulative Test TA =Teacher Assessment ESE= End semester
Examination
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